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Q.1. It is more better (1)/ if one of the
parents(2)/ stays at home(3)/ to look
after the children(4)

a) to look after the children
b) if one of the parents

c) It is more better

d) stays at home
Answer: (C) Remove more

i)
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Q.2. The heavy-weight fighter
was knocking out in one punch.
a) in one punch.

b) was knocking out

c) The heavy-weight fighter
d) No error

Answer: (b) In Passive Voice, V3 (Past
Participle) should be used. Hence,
was knocked out is the right usage




Q.3. The success of the (1)
government sponsor job guarantee
programme (2)/ has resulted in a(3)/
drastic drop in poverty (4)

a) drastic drop in poverty

b) government sponsor job guarantee
programme
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Q4. The reason Janet came
dressed / as Lady Gaga was
because she’'d been told / it was a
costume party / No error.

a) as Lady Gaga was because
she’'d been told |

b) it was a costume party M
c) The reaseredamet came dressed

re, replace ‘because’
d) No errblﬁ wazith “4h at’
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Q.5. This comes (1) / at a time
(2)/ when fund allocation (3)/ is
been doubled (4)
a) is been doubled
b) at a time

c) This comes

d) when fund allocation
Answer: (a) Replace is with has




Q.6. The sole idea behind (1)/
conducting such programmes (2)/ are
to create awareness (3)/ among
young minds of our nation (4)

a) among young minds of our nation
b) conducting such programmeli=
c) The sole idea behind Al
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Q.7. Owing the new policy (1)/we
feel that the targets (2)/ set for
this year (3)/ may not be
achieved(4)

a) may not be achieved

b) we feel that the targets | " |
c) Owing the new policy M
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8.Not much (1)/ people realize (2)/
his sincerity. (3)/ No error (4)

a) people realize

b) his sincerity.

c) Not much

d) No error

Answer: (c) much is used with

Uncountable Nouns
manyv ie ticed with Coiintable Noiline
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9.They are coming / straight to /
our direction. / No error .

a) straight to

b) our direction.

c) They are coming

d) No error

Answer: (a) Here, straight in is the right
usage.
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10. | was first /to reach the school /
today. /No error

a) to reach the school

b) today.

c) | was first

d) No error

Answer. (c) ‘The’ is used with
ordinal number.
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11. BY HOOK OR BY
CROOK

A. Being very evil and
destructive %

B. In whatever way onecan| .. ..

C. In a completely insan
nmaerr]' rThe rase '

B -s’f'nogg)af%wp BCious:

by any possible way.




- 4 A AARITS
i W« 3, @
Yy & O
¥ I -
o =YY, o ¥z H
A
R e o
(; -

12. FOR GOOD

A. Permanently

B. Temporarily

C. For a good cause
D. Seriously

Answer: (a)
The phrase '‘for good' means

forever; definitely.
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13. Find the synonym of
RECTIFY

A. Direct

B. Record

C. Undo

D. Correct

Answer: D. Correct




14. Find the synonym of
DISPARITY

A. Diversity

B. Inequality

C. Enmity

D. Segregation
Answer: (b) The word Disparity

means lack of similarity or
equality; inequality;
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15. Find the synonym of
AMELIORATE

A. To praise

B. To become ill

C. To make better

D. To award

Answer: C. To make better
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16. Find the correctly spelt
word.

a) kleptomaniac

b) kleptomaniec

c) cleptomeniac

d) cleptomaniac

Answer: a)
kleptomaniac
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17. Find the correctly spelt

word.
a) pieos
b) pious
C) piuos
d) pios

Answer: b) pious
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18. Find the correctly spelt
word

a) omited

b) ommitted

c) ommited

d) omitted

d) omitted




19. Find the correctly spelt
word

a) discrepancy

b) discripency

c) descripancy

d) discripancy

a) discrepancy
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20. Find the correctly spelt
word

a) defenite

b) definite

c) dafinite

d) diffinite

b) definite







21. There have been many
philosophers, scientists, artists
and politicians who claim that
they are of the world.

a) beings

b) citizens

c) peoples

d) families
Ans. b) citizens
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22. | can’'t make both ends
on my small

salary.
a) meet
b) unite
C) join
d) touch

Ans. a) meet




23. After being given
warnings for disrupting class,
Thomas was finally sent to the
principal’s office.

a) singular

b) lone

C) numerous E]

d) unique
Ans. C) humerous
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24. Mr Bose working
in the bank for the Ilast
fifteen years.

a) will be

b) have been

c) to be

d) has been

Ans. d) has been




25. Pinky was playing
cricket, she fell down and hurt
herself.

a) As

b) Since

c) While
d) As soon as
Ans. c¢) While




~ Home Work ]

Had he taken his degree five
years ago he got a
promotion by now.

a) might

b) would have

c) will be

d) was
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